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Chemistry

Mathematics

Match the following columns m

A B
a Al p. Siderite
b Z q. Malachite
C. Fe r. calamine

D Cu 5. Bauxite

Ans. a=>s,b=2>rc2p,d>q

What is the Shape of Is- Answer -
Linear and 180 Degrees

Which of the following has the
highest M.P? Answer - MgO
Which of the following is used in
Blood Clotting? - Answer - FeCls
InBuna, S, S is for - Answer -
Styrene

What is the correct order of density
for Zn, Fe, Co, Cu, Cr - Answer -
Cu>Co>Fe>Cr>Zn

Shape of [1"3-]

Ans. Br; +Fe, Sn/Hcl, HNO,/HCI, Cu/HBr



Which can not formed by Gabriel phthalamide

synthesis

. - O NO, forms dimer but ClO; does not why ?
R, W B ’

AnswerB -
M)
C. CHyCH-NH, 0. T
Statement-1 Hydrogen is most abundant in
VYNEN Of the folowing b mon-arovaatil universe but not in earth troposphere

Statement-2 Hydrogen is lightest element
Answer - Both Statements are Correct

e — »

Two olectrons are fixed a1 o separation of 2d fram each other. A proton is placed
a1 the midpaint nnd displaced slightly in a direction perpendicular 1o line joining
the twe electrons. Find the frequency of oscilation of protan.

@ s
(&) 1 xyas
(&) 1-3ysee
e - | The weight of a person on pole is 48 N then the weight on équator is?

Give [& = 6400 km]

(A) a8

Answer C (8] sums
(c) 4788

OSSN

More Questions will be Added soon
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